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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1) Which is the most stable measure of Central
Tendency ?
F=1a Y H GEY TR SUE S § 2
(ii)) What is a gene pool ?
S g F R ?
(ii1) How will you define speciation ?
YSIIehTor Sl 39 Sy qRefod & ?
(iv) Define adaptive radiation.
SRl fafetor w1 aiwifa &S
(v) Write four destabilizing forces operating in a
population.
SHEET # e O sifeer se i fafew)
(vi) What is an array ?
W T ?
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(vii) Which technique uses body water molecules

for creating images ?

Bfa & fHv & fau TR & 9+ & o7sht @

ST HITEH qehAle w § 2

(viii) Explain inbreeding depression.

ANHISA STEEE T FHIEY |

Section-B

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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. Describe how the processes of allopatric, parapatric

and sympatric speciation could take place ?

Tzt & f5e yor aqigs, foenfrw wa wefas

yefaeRtor gfsrard Bt § 2
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. Write notes on the following :

(i) Null Hypothesis

(i1)) Chi-square test.
frefafea w fewfrr fafea :
() & 9o

(i) FE-TERR TE|

. Describe the pattern and mechanism

reproductive isolation.

S JUFRI 1 TWEY qAT FHEEY THAET |

. Find out the median of the following data :

() 21, 12, 49, 37, 88, 46, 55, 74, 63

(i) 88, 72, 33, 29, 70, 86, 54, 91, 61, 57

of

frafafea Temst &t mftgesnt &1 9= [ FIfST

(1 21, 12, 49, 37, 88, 46, 55, 74, 63

(1) 88, 72, 33, 29, 70, 86, 54, 91, 61, 57
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6. Difference between :

(i) Primary Data and Secondary Data
(i) Qualitative and Quantitative Data.
frefafea =1 faafsq wifsa -

() wufas @ @ fEdew se

(i) TOTCHE UE HETCHE ST |

. What is Hardy-Weinberg’s Law ? Give examples

to establish its validity and limitations.

BIEi-oeent o =1 ® 7 SHeR! ol U s
! TUa L & fau 3| fafe |

. Derive relation between AM, GM and HM.
AM, GM &1 HM # 9wy &= Sife |

. Comment upon the following :

(@) MRI

(b) Endoscopy.

frefafea w fewfrr fafea :

(@) MRI

(b) ToESTERIH

MZO-04/7 (5) T—-321 7Turn Over

Section—C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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7
10. Write a detailed note on measures of Central
Tendency.

< ygfa & Al R U fawga o fafen

11. What are the applications and properties of
Poisson Distribution ? Show that in a Poisson

distribution with unit mean, mean deviation is —
e

times the standard deviation.
T foao & o ud sHyErT & aR ° fafen) fag
ST o sHE A ol @ faaeo ° we fa=em,

Wﬁww%w@m%l
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12. Write a detailed account on software used in
biomedical sciences.
FAAfeRe foam & 7 § a® 9 a9 SRam W
fawga e fafem |

13. Explain the following :

(1) ‘Constraint’ in the molecular evolution of

DNA and proteins.

(i1) Phenotypic variations.

frfafea w1 99 smEy .

(i) DNA den W & offvas HAFE SHfa |
Rl

(i) 9= TIR |
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